
 

 

Cab Rack Installation Instructions 

 

Required tools for installation: 

Drill with 3/8 inch and 3/16 inch drill bits 

3/8” Nut driver 

3/16” Combo Wrench 

#/16” Deep Well Socket and Ratchet 

 

Required Hardware for Installation (not 

supplied): 

(4) 3/8 inch x 11/2 inch bolts, washers and 

nuts 

(4) #10 sheet metal screws 

1) Set the Cab Rack in position on 

truck.  Make sure it is centered 

from side to side and the correct 

distance from the truck cab. 

2) Find 4 locations to drill through 

the cab rack feet and the truck 

bed rail.  These should be 

unobstructed and in the 

approximate locations shown. 

3) Drill 4 x 3/8” holes in the selected 

locations. 

4) Secure the Cab Rack using the 3/8 

inch bolts, washers and screws. 

5) Drill 4 x 3/16” holes in the 

diamond face plate and front 

bed rail. 

6) Install the 4 #10 sheet metal screws. 

 

X 4 
3/8

 x11/2 

X 4 
#10 

NOTES 

Do not run this vehicle through automated car washes if optional items or accessories are attached to the cab rack.  Failure to 

follow these instructions voids product warranty and damage to the vehicle, cab rack or persons may result.  

This cab rack is not intended to serve as a roll bar and does not offer any crash protection.  No fitness for this use is expressed or 

implied. 

Cargo carrying capacity is 250 pounds.  Any load must be secured to the vehicle bed.  Bed reinforcement may be required.  Refer to 

the vehicle manufacturing recommendations for attaching accessories to the pickup bed. 

2 Year warranty is VOID if the customer fails to install the Cab Rack as per mounting instructions supplied by ProTech. 

MAOM0047A 

7/16/2019 

 

. 

. 

. 

. 

. 

. 

. 

. 

3/16” HOLES (4) 

3/8” 3/16” 3/8”  3/16”  3/16”  


